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For questions 1—7, use the sample data given below. Environmental sci-
entists measured the greenhouse gas emmissions of a sample of cars. The
amounts listed below are in tons (per year), expressed as CO, equivalents.
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1. What is the variable, z, being measured in this sample? ]J w I e
2. Determine the value of 3 z. = 1 1+ T+ 1Y+ 19+ 6.5 2. _@g_._
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4. What is the median value of data set? a3
5. Is there a mode? If so what is its value? 5. 1 A
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6.  What is the midrange value of data set? w——v~i~~~*’* = P_l (P (A
7. Are there any outlier values in the given data set? A . S

For questions 8—14, use the sample data given below. The data is from a
simple random sample of space shuttle flight duration times (in hours).
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~ 8. What is the variable, z, being measured in this sample?
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